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Example of CS Amplifier    
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DC Analysis (p. 631)
Lecture 22
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V V
Lecture 22

Since , then, 

. Solving,  or .

For ,  and .

Since , then our assumption is correct.
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AC Analysis   
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,

V2⁄
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0.990vs
Lecture 22

Transconductance - 

Output Resistance of MOSFET - 

Output Voltage  and 

so 
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 and how does it

ds to a small-sig-
2-1? What is the
s amplifier?

 is . 

V

∞

Lecture 22

What is the amplification factor µf of the MOSFET above
compare with AV? 

What is the largest value of vs of the circuit that correspon
nal for the amplifier for the circuit at the top of page 2
largest value of vo that corresponds to a small-signal for thi

Input Resistance 
Is limited by gate bias resistors since input gate impedance
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